Graph this rational function.
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/ This is called a radical symboal
it indicates finding a root.

This is called the Index.
It tells what N

root you are to find. ¢ a
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Nothing written here indicates
Square Root.
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This is called the
Radicand
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Write the equation of this graph which is a transformation of y = %_
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Looking ahead to Chapter 7: Below are skills that will be used again

Simplify each: in Chapter 7.



Simplify each: Simplify each:
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If you notice the two radicands have a have the same radical and same
common factor you can speed up the radicand
simplifying. .
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